A2E Quadratic and Polynomials Functions (1).notebook

Quadratic Forms

February 08, 2021

A3/

Recognizing
Vertex Form | Intercept Form  [Standard Form
f(x) = a(x=h)? +k | f(x) = f(x) = ax? +bx + c
(x) = a(eh)? +k | f(x) = afep)ea)) 2 abxre
Vertex: (h,K) X intercepts/ Dilation: a_

h- horizontal shift

k- vertical shift

Dilation: a

a is negative: »
Reflection

: shrink
not 0
a > 1 : stretch

X4 é
Axis of Symmetry:

Solutions/Roots/Zeros:

X=p andx=q

—

Dilation: a

e

[
|/ x=h
N\
Easily Translatable
and Graphable

Axis of Symmetry:

Half way between the roots

x=h=PR*d i

Y Intercept: (O_,C

Axis of Symmetry:

Y
To find VértexX: input

the axis of symmetry x
value, h, in the function
the y value will be the k

2

To find Ve “input the
axis of symmetry x value, h,
in the function, the y value

will be the k
Factor to find this form, or

X intercepts/Roots

Find vertex and turn

turn solutions into factors

into vertex form
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All the Pieces of the function from each Form

(2.0) (S,DW} f‘rQ

x-intercepts: (p,0) (9,0) Axis of Bymmetry
zeros/roots/solutions X = h]= +q)/2
x=pand X=q
X — Vb% - 4ac -
w \’ L ~ ) ‘j:)( Z
) 2 ' - =
N\ | 4\/ y=()
\ S o=t Y= |

Y-Intercept:(0,c)

D

Vertex: (h,k)
WhICh . f(x) = 2&:(2))2 + 7 f(X) = 1/2(X - 3)(x + 2\)
Formis it ¥220
in? Vertex Lotetept "o

V(4.7 x=5 %7-d
f(x)=-16x° + 32x + 60 |) 0= -8(4x - 3)(7x + 5)
Swdad a=-|b Taboup 7 700

-t \o-’}z 7’:_:%5
\\)_)”ﬁ— <O,60> c =60 ’—:'ZT )(—"é

N

> f(x) = -3(x - S-SV +O ) f(x)=-5/3§ +5
Vesder © V 5,9 Sdndad D;Alr(o;ﬂ
Tokewrt s <5 Veckx  1:(0,5)
{) f(x) = -0.75%° - 3x S) f(x) = 4(x+6)? - 8

S‘\’W\AW& %;ATCD/D) \/ka V{LC’?)

r\
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Which
0=-7(3x-1)(x-2
Form is it (3x-1)(x - 2)
in?
Homework
f(x) = -(x - 3)2 + 14
f(x) = (x+7)(x +9)
f(x) = 7/4x* - 6
in? @
Y = —% % =L
Homework
f(x) = -(x - 3)> + 14

Am W

f(x)— (x+7)x+9)

f(x) = 7/4x? -

311\4' (D,'Q
\: -9

@W o
¢ \/ e/ %(,(,O)l_é

f(x) = 4(x - 9)?

f(x) = -75x* + 25x

f(x) = -1/8(x + 2)2- 5

f(x)=-5x*+ 7x + 6

f(x) = 4(x - 9)?

V({-)—(;L \/(‘]‘0)

of Tk pT%=1
f(x) = -75x% + 25X

@U‘wf (0 0)

f(x) = -1/8(x + 2)? -
o) (09
f(x)=-5x*+7x + 6

Stindacd
j nt (Qé)
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